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Sample Paper – 2010
Class – XI
Subject – Mathematics

Time: 3 Hrs
 M.M. 100

Part – A                                              

All questions are compulsory each will carry 2 marks.

1. Find the value of Cos(-480()

2. Express          in the standard form a+ib.

3. Solve the equation 4x²+9=0 by factorization method.

4. If  pⁿ = 720 and        =120 , find r.

5. The fourth term of a G.P. is 27 and the 7th term is 729, find the G.P.

6. Find the equation of the Parabola with focus (2,0) and directrix x=-2.

7. Find the derivative of xˉ³  (5+3x).

8. Write the Contrapositive and converse of the following statement.

     Something is  cold implies that it has low temperature.

9. Reduce the equation ( 3x+y-8=0 into normal form. Find the values of P and w.

10. Find the sum to n terms of the series whose nth term is n(n+3).

11. Find the general term in the expansion of (x²-yx)¹², x=0.

12. Find the domain of the real function f(x)=( 9-x².

13. In a group of 800 people, 550 can speak Hindi and 450 can speak English. How many can                 speak both Hindi and English.

14. Prove that the general solution of tan(=tan ( is given by (=n( + ( , n ε z

15. Solve -11 ( 4x – 3 ( 13  

                                                        OR 

     Using section formula, Prove that the 3 points A(-2,3,5),B(1,2,3) and C(7,0,-1) are collinear.  

Part – B

All questions are compulsory. Each will carry 3 marks.

1. If ((x) = (xⁿ,prove that (=(′(1)/n

2. In class XI of a school 40% of the students study Mathematics and 30% study Biology 10% of the class study both Mathematics and Biology. If a student is selected a random from the class. Find probability that he will be studying Mathematics or Biology.

3. A rod AB of length 15cm rests in between two co-ordinate axes in such a way that the end point A lies on x axis and the end point B lies on that AP= 6cm. Show that locus of P is an ellipse.

4. Insert 6 numbers between 3 and 24 such that the resulting sequence is an A.P.

5. Find r, if 5   = 

6. In how many ways can one select a cricket team of eleven from 17 . players in which                 only 5 can bowl if each cricket team of 11 must include exactly 4 bowlers?

7. Find the modulus and argument of z=-( 3 + i

8. Prove that : Cot x Cot2x – Cot2xCot3x– Cot3xCot x = 1  

9. The centroid of triangle ABC is at the point (1,1,1). If the Co-ordinates of A and B                                         are (3,-5,7) and (-1,7,-6) respectively, find the co-ordinate of the pt C.

10. If three points (h,o), (a,b) and (o,k) lie on a line. Show that a   b










       h   k


11. Using Binomial theorem, indicate which is larger (1.1)¹ºººº  or 1000.

12. Prove that 2ⁿ > n for all positive integers n.

13. Prove that : Sin 5x - 2Sin3x + Sin x 

                             Cos 5x- Cos x           

14. Ravi obtained 70 and 75 marks in first two unit test. Find the minimum marks he                          should get in the third test to have an average of at least 60 marks.

15. Find the mean deviation about the mean for the following data                                                                                                       12,3,18,17,4,9,17,19,20,15,8,17,2,3,16,11,3,1,0,5         

                                                   OR
     Find the probability that when one card is drawn from a well shuffled deck of 52             cards. If each outcome is equally likely.

     The card will be: (i) diamond 




  (ii) not an ace 




 (iii) not a diamond.


Part – C

Do any five sums. Each will carry 5 marks.

1. If P is the length of perpendicular from the origin to the line whose intercepts on the axes     are a and b then, show that 1      1     1

                                              p²   a²   b²

2. Show that the middle term in the expansion of (1+ x)²ⁿ is 1.3.5…….(2n-1)

                                                                                                       n!
3. Find the value of n ,So that  a    +  b   may be the geometric mean between a and b.

                                                 a    + b 

4. By using the principal of mathematical induction for all n ε N

                                         n(2n-1)(2n+1)

[image: image1.png]       1²+3²+5²+ ----- (2n-1)²=           3

5. Find the equation of the circle which passes through the pts. (2,-2) and (3,4) whose centre                                 lies on the line x+y=2.

6. The sum of n terms of two arithmetic progression are in the ratio (3n+8):(7n+15). Find the ratio of their 12th terms. 
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